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S A ﬁxed ended (at-A and C ) knee bow g1rder ABC havmg length of

-+ each arm ( AB=BC)- as 3:m carries a - point. load of 3t at'B acting © -
vertically downward. Solve the girder- and draw’ the cornplete bendmg'. ' o o SR

moment, shear force and torswn moment dtagrams of the: grrder Take SRR

- EI/GY=2.0."

| A two hmged parabohc arch has a span of 13 1, the he1ght of ¢id:

4 m above left support and 3 m above the. rlght support The horrzontal‘_ SRS
.distance between the left support ahd the crown is 7. m The areh is- .. %
loaded with a pomt load of 10 t at the-crown " Solve the arch and draw ~ RS

the complete bending moment, shear force and normal thrust dlagrams

« takmg at Jeast 10 equ1d1stant sect1ons apart from the supports.

A ﬁxed ﬁxed frame ABCD has the following detaﬂs

force of 5 tacts at B in the d1rect1on BC

- Solve the frame by column analogy or elast1c centre method and hence

 draw the complete bendmg moment and shear force dlagrams

“The left support A is 1 'm below the right’ support D lhe column AB = R
4 m, beam BC = 3 m and the column €D =3 m . The Hlexural rigidities - oo
are EI El and 1.5 EI for AB , BC and CD respectwely A honzontal‘ e
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3 Constam EI

: F1g Ql

| 2 me the bendmg moment and the shear force dtagram for the beam shown o
Flg Q2 usmg moment dlstnbutlon mcthod R A PSR T T

1m

f:_n; \SL_ | .

Flg Q2

columns have 1 5 tlmes the area compared t@ the Outcr columns




